1999 Youth Risk Behavior Survey

Calculated Variables

1999 YRBS processing accommodates several new data structures 1) a “Choose all that apply” race/ethnicity question, 2) height and weight, and 3) dichotomous variables calculated for the MMWR.  All of these are calculated at the time data are initially read into the system. 

1. Race/Ethnicity

Race data are scanned as an eight-column character variable from columns 44–51 of the ASCII file. The system reads it into q4_orig. If the respondent selected “A”, then column 44 contains an “A”. If they selected “B”, then column 45 contains a “B”, and so on up to column 51, if they selected “H”. The standard questionnaire only goes up to “F” but the processing system supports up to eight choices. 

The information in q4_orig is used to create Q4. If the respondent selected only one response option, then Q4 is set to “1” to “6” depending on the option selected. If they selected more than one response and included Hispanic, then Q4 is set to “7” indicating “Multiple – Hispanic”. If they selected more than one response and did not include Hispanic, then Q4 is set to “8” indicating “Multiple – Non-Hispanic”. If they did not select anything, then Q4 is set to missing.

Q4 is stored as a single column character variable. Q4_orig is maintained in CDC’s copy of the data and is included in the data sent to the site should they desire additional analyses.

This plan meets the processing and reporting standards for the combined format race/ethnicity question contained in “Provisional Guidance on the Implementation of the 1997 Standards for Federal Data on Race and Ethnicity” provided by the Office on Management and Budget (Feb. 1999). See “1999 YRBS Race/Ethnicity Tabulations” for details of how this variable will be presented in site reports.

2. Height, Weight and BMI

Basic Edits: Height is scanned as a three-column character variable from columns 45-47 of the ASCII file. It is not compressed or justified by the scanning program. The system reads it into q5_orig. The first column ranges from “3” to “7” and indicates whole feet; the second and third columns range from “00” to “11” and indicate inches. If either feet or inches isn’t filled in or is unreadable, then both are set to missing and Q5 is set to missing. If it was filled in correctly, it is converted to meters by the formula


[image: image1.wmf](

)

in

m

origin

Q

origft

Q

Q

0254

.

0

_

5

12

_

5

5

´

+

´

=


Q5 is stored as a numeric variable formatted as 8.2. Q5_orig is stored on CDC’s copy of the data but is not included on the data file that is sent to the site.

Weight is scanned as a three-column character variable from 48-50 of the ASCII file. It is not compressed or justified by the scanning program. The processing system reads it into q6_orig. The first column indicate 100s of pounds and ranges from “0” to “3”; the second column indicates 10s of pounds and ranges from “0” to “9”; the third column indicates single pounds and ranges from “0” to “9”. If any column is left blank or is unreadable, all columns are set to missing and Q6 is set to missing. If it was filled in correctly, it is converted to kilograms by the formula
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Q6 is stored as a numeric variable formatted as 8.2. Q6_orig is stored on CDC’s copy of the data but is not included on the data file that is sent to the site.

If Q5 is missing, Q6 is set to missing. If Q6 is missing, Q5 is set to missing.

If Q5 and Q6 are missing, BMI is set to missing. If Q5 and Q5 pass basic data edits, Body Mass Index (BMI) is calculated by the formula
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BMI is stored on CDC’s dataset as a numeric variable formatted as 8.2. 

Logical Edits: When basic edits are complete, logical edits are applied to Q5, Q6, and BMI to make sure that the results are reasonable. Q5, Q6, and BMI are set to missing if age or sex is unknown. Q5, Q6, and BMI are set to missing when an observation lies outside the following limits.  These limits were developed by the Division of Nutrition and Physical Activity.

Age
Males
Females

(10
Weight: 13.61-90.72 kg

Height: .94-1.68 m

BMI: 11.5 –41
Weight: 13.61-90.72 kg

Height: .94-1.73 m

BMI: 11-40

11-12
Weight: 20.41-136.08 kg

Height: 1.02-1.83 m

BMI: 11.5-41
Weight: 15.88-136.08 kg

Height: 1.02-1.83 m

BMI: 11-40

13-14
Weight: 27.22-181.44 kg

Height: 1.27-1.98 m

BMI: 13-55
Weight: 27.22-181.44 kg

Height: 1.27-1.98 m

BMI: 13-55

(15
Weight: 31.75-181.44 kg

Height: 1.27-2.11 m

BMI: 13-55
Weight: 27.22-181.44 kg

Height: 1.27-1.98 m

BMI: 13-55

The loading report includes the number of questionnaires that did not pass basic edits and the number that did not pass logical edits. 

3.
Dichotomous Variables

Dichotomous variables are created and added to the master datasets during loading.   In general the qn-variables are based on a single question.  Cases where they are subset differently and how they are calculated are detailed in the following table. 
Var
Description
SAS Code

Qn7
Qn7 is one when the student reports that they never or rarely wore a helmet when riding a motorcycle. It’s two if they wore a helmet more than that. It’s missing if they never rode a motorcycle.  The denominator is all students who reported  riding a motorcycle.
if q7 in ('2','3') then qn7=1;

else if q7 in ('4','5','6') then qn7=2;



Qn8
Qn8 is one when the student reports that they never or rarely wore a helmet when riding a bicycle. It’s two if they wore a helmet more than that. It’s missing if they never rode a bicycle. The denominator is all students who reported  riding a bicycle.
if q8 in ('2','3') then qn8=1;

else if q8 in ('4','5','6') then qn8=2;

Qn61
Qn61 is one when the student reports that they drank alcohol or used drugs before the last sexual intercourse. It’s two if they didn’t. It’s missing if in q61 they report that they’ve never had sexual intercourse or if q61 is missing.  The denominator is all students who are currently sexually active based on Q60.
if q61 = '2' then qn61=1;

else if q61 = '3' then qn61=2;

if q60 in (' ','1','2') then qn61=.;

Qn62
Qn62 is one when the student reports that they or their partner used a condom the last time they had sexual intercourse.  It’s two if they didn’t. It’s missing if in q61 they report that they’ve never had sexual intercourse or if q61 is missing.   The denominator is all students who are currently sexually active based on Q60.
if q62 = '2' then qn62=1;

else if q62 = '3' then qn62=2;

if q60 in (' ','1','2') then qn62=.;

Qn63
Qn63 is one when the student reports that they used birth control pills to prevent pregnancy the last time they had sexual intercourse.  It’s two if they didn’t.  It’s missing if in q61 they report that they’ve never had sexual intercourse or if q61 is missing.  The denominator is all students who are currently sexually active based on Q60.
if q63 = '3' then qn63=1;

else if q63 in ('2','4','5','6','7','8') then

   qn63=2;

if q60 in (' ','1','2') then qn63=.;

Qn84
Qn84 is one when the student reports that they spent more than 20 minutes exercising in an average PE class.  It’s two if they spent 20 minutes or less.  It’s missing if they are not enrolled in PE.  The denominator is all students who are enrolled in PE based on Q84.  
if q84 in ('4','5') then qn84=1;

else if q84 in ('2','3') then qn84=2;

Qnfrcig
Qnfrcig is based on Q29 and indicates frequent cigarette smoking. It’s one when the student reports they smoked on ( 20 days of the past 30 days; two otherwise. If Q29 is missing, then qnfrcig is missing.  The denominator is all students.
if q29 in ('6','7') then qnfrcig=1;

else if q29 ne ' ' then qnfrcig=2;



Qnstore
Qnstore is based on Q1 and Q31 and indicates that the student is < 18 years old, is a current smoker, and bought cigarettes in a store. It’s one when they meet these conditions and two otherwise. If the student is ( 18 or is not a current smoker, then qnstore is missing. If Q1 or Q31 is missing, then qnstore is missing.  The denominator is all students who are less than 18 years old.
if q31 in ('2') then qnstore = 1;

else if q31 in ('3', '4', '5', '6', '7')

   then qnstore = 2;

if q1 in ('7',' ') then qnstore = .;



Qnproof
Qnproof is based on Q1, Q31, and Q32 and indicates that the student is < 18 years old, is a current smoker, bought cigarettes in a store, and was not asked to show proof of age. It’s one when they meet these conditions and two otherwise.  If the student is ( 18 or is not a current smoker or did not buy cigarettes in a store, then qnproof is missing.  The denominator is all students who are less than 18 years old and are a current smoker based on Q32 and bought cigarettes in a store based on Q32.
if q32 in ('3') then qnproof = 1;

else if q32 in ('2') then qnproof = 2;

if q1 in ('7',' ') or

   q31 in ('1','3','4','5','6','7',' ')

   then qnproof = .;



Qnabstsx
Qnabstsx is based on Q60 and indicates that the student is currently sexually abstinent. It’s one when they indicate that they have ever had sexual intercourse but haven’t had sexual intercourse in the last three months; it’s two if they answer one or more people. If Q60 is missing or the student indicates that they have never has sexual intercourse, then qnabstsx is missing.  The denominator is all students.
if q60='2' then qnabstsx=1;

else if q60 in ('3','4','5','6','7','8') then

   qnabstsx=2;



Qnfrvg
Qnfrvg is based on Q73 to Q79 and indicates that the student ate five or more servings of fruits and vegetables a day, on average, over the past seven days. It’s one when they meet these conditions and two otherwise. If any of the variables are missing then qnfrvg is missing.  The denominator is all students.
length qfrvg1 qfrvg2 qfrvg3 qfrvg4 qfrvg5 qfrvg6 8;

  qfrvgtot=0;

  array qfv{6} q72 q73 q74 q75 q76 q77;

  array qfrvg{6} qfrvg1 qfrvg2 qfrvg3 qfrvg4 qfrvg5 qfrvg6;

  do i=1 to 6;

    select (qfv{i});

      when('1') qfrvg{i}=0;

      when('2') qfrvg{i}=2/7;

      when('3') qfrvg{i}=5/7;

      when('4') qfrvg{i}=1;

      when('5') qfrvg{i}=2;

      when('6') qfrvg{i}=3;

      when('7') qfrvg{i}=4;

      otherwise qfrvg{i}=.;

    end;

    qfrvgtot=qfrvgtot+qfrvg{i};

  end;

  if qfrvgtot>=5 then qnfrvg=1;

    else if qfrvgtot ne . then qnfrvg=2;

    else qnfrvg=.;

  drop qfrvg1-qfrvg6 qfrvgtot;



Qndlype
Qndlype is based on Q83 and indicates that the student takes physical education (PE) daily. It’s one if this condition is met; two otherwise. If Q83 is missing, then qndlype is missing.  The denominator is all students.
if q83 = '6' then qndlype = 1;

else if q83 ne ' ' then qndlype = 2;



Qnrovwgt and Qnovwgt
Qnrovwgt is based on height, weight, Q1, and Q2 and indicates the student is at risk of being overweight. Qnovwgt is based on height, weight, Q1, and Q2 and indicates the student is considered overweight. BMI values that pass the editing standards stated in Section 2 are compared to the following chart. Qnrovwgt is set to 1 when BMI is greater than or equal to the 85th percentile and less than the 95th percentile in weight distribution; two otherwise. If BMI is missing, then qnrovwgt is missing. Qnovwgt is set to 1 when BMI is greater than or equal to the 95th percentile in weight distribution; two otherwise. If BMI is missing, then qnovwgt is missing.  Qnrovwgt and Qnovwgt are mutually exclusive.  BMI itself is not included on the file that is sent to the site.  The denominator is all students.
Contact programmers for SAS code.

Reference Data for Obesity

Age
Males
Females


85th
95th
85th
95th

(9
18.85
21.47
19.19
21.78

10
19.96
22.60
20.19
23.20

11
20.35
23.73
21.18
24.59

12
21.12
24.89
22.17
25.95

13
21.93
25.93
23.08
27.07

14
22.77
26.93
23.88
27.97

15
23.63
27.76
24.29
28.51

16
24.45
28.53
24.74
29.10

17
25.28
29.32
25.23
29.72

(18
25.92
30.02
25.56
30.22

The source for the reference data is the National Health and Nutrition Examination Survey I. 
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